3-5. The block C is moving downward with a normally distributed velocity v, ~ N(3,0.3%) m/s.

The lengths of two bars are L,; =2m and L,. =3 m, respectively. If & =30", determine the

angular velocity of bar AB at the instant shown.

J

I'ep = Lgc COSOi+ L. Sinb]
Ve = Vg +Wpc XTI

Vo j = —0u5LppJ + @K X (Lye COSOi + Ly Sin 6j)
= —WpgLpp) + WL COSOf — Wy L SIN O

Equating i and j components gives
Wyl SINO =0, @y, =0

—Ve = —@,gLpp + @5 L COSO

VC
Wpg = ——
AB LAB
My = He _3_ 1.5rad/s
LAB

o :i=%:0.15 rad/s

[X:)
AB

Therefore, w,; ~ N(1.5,0.15%) rad/s. Ans.



